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Plot [['EcFgro', 'EcFzExp', 'EcPltng', 'ECdef’, '‘water_ec']]
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Plot ['ECopt']
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Plot ['FR', 'soilSetVI']
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Plot [['ETCAbyEtM:bo’, 'ETcAbyEtM_ma:b--', 'ETcAbyFv:go’, 'ETcAbyFv_ma:g--', 'ETcA:ro', 'ETcAma:r-']]
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Plot [['I", 'lopt'], ['T", "Topt'], ['RH', 'RHopt'], ['ETcl', 'optETcl'], 'LAI', 'optEtRate']

ol VT NS —
N L WA 1Y I T e

| AR T .
\% \ \\

| TN

450

300

250

T~
\\\
T~

200

150

0 25 50 75 100 125 150 175 200

1 |

1 — T
: —— Topt
- |
1

z:: : l\ L JJ\MW'\/\/\V\
25.0 :/\/ \/ \/\,\_

I
22.5 : — |
I
I
I
I
I

32.5

20.0

17.5

62

60

58

56

54

I

I

1

1

[i

52 : — RH 4
JI —— RHopt

50 1 [

0 25 50 75 100 125 150 175 200

| r‘\A'A NAM — ETCl

1
1
" l[\,.\ ——  OptETcl |
1
2000 : ,j}‘// i \\\—/MQA
1
1
1500 I /\'
:
1
|
1
1
1

1000
500 / xﬁk

0 25 50 75 100 125 150 175 200

2500

|
/’-\ —
3.0 LA}

2.5

MR ~

1.0 / \
0.5 SV ——__
1
0 25 50 75 100 125 150 175 200
d
1.4 .
n —— optEtRate

13 | |
1.2 i A \\AI\
' ) [\A MM A A AN A A P~

1.1 \
SO A an e AR MR LM AVTRATLA TV - —

0.9 |

0.8 i
JI

1

0.7 Vi

0 25 50 75 100 125 150 175 200




13wnd

o o o o
o o o o o
0 o 0 o o
~N N — — 0
1
o o o o o
o o o o o
0 o 0 o 0
N ~N — —
N

S6T
06T
681
081
GLT
0LT
G91
09T
GGT
04T
SY1
ovT
GET
0€T
T4
0¢t
STIT
OTT
SOT
00T °
S6
06
S8
08
SL
0L
S9
09
GS
0S
114
ov
GE
(013
14
0¢
ST
0T



WaJodsb |

20
- 15
- 10
--10
--15

-20

S6T

061

681

081

QLT

0LT

G9T

09T
GqT

06T

ST

ovT

GET

0€T

T4

0cI

STT

OTT

G0T

00T °

S6

06

S8

08

QL

0L

S9

09

S

0S

1%

ov

GE

o€

Y4

0¢

ST

0T

|||||||||| —— ] —— == m

2500
2000
1000

500

T 1500



Fg Trigger Score (by Et and sensor)

—— TgScoreEt
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Plot liquid fertilizer usage
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Plot solid fertilizer usage
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Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa
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